
 20463
02-05 DODGE 
RUMBLE BEE 
HOOD SCOOP 

 20463
02-05 DODGE 
RUMBLE BEE 
HOOD SCOOP 

BILLET INSERT – HOOD SCOOP

Tools Required:  Hardware / Parts List: 
Phillip Screw Driver 1 Billet Insert (3 bars) 
Socket or wrench 2 6-32 X 1.5” Machine Screw 
1/8 Drill Bit            (SHAVED HEAD SCREW) 
 2 #10 Flat Washers 
 2 6-32 Nylon Locking Nuts 
  

Read and understand instructions before attempting installation  
 
Step 1 
Remove the hood scoop from hood.  Test fit the billet into the opening.  With a marker, mark the 
centers of mounting tabs on plastic for drilling.  Remove the billet and drill a 1/8” hole.  Center the 
billet into scoop.  Place the custom machine screws through the front of the billet and plastic 
backing.  Place a flat washer and a nylon locking nut on each screw and tighten.     
 

Step 2  
Re-install the hood scoop to vehicle. 
Thank you for purchasing your T-Rex billet grille 9/26/07 

 
 
 


